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ALGEBRAIC FORMULA

Example

1. To find the square of the algebraic expressions given below using

, Let's find what has to be substituted for a and

b in each case and hence find their square. 

x + 3

Watch Video Solution

(a + b)2 = a2 + 2ab + b2

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_znvP1BBUN2Ls


2. To find the square of the algebraic expressions given below using

, Let's find what has to be substituted for a and

b in each case and hence find their square. 

p + 9

Watch Video Solution

(a + b)2 = a2 + 2ab + b2

3. To find the square of the algebraic expressions given below using

, Let's find what has to be substituted for a and

b in each case and hence find their square. 

6 - x

Watch Video Solution

(a + b)2 = a2 + 2ab + b2

4. To find the square of the algebraic expressions given below using

, Let's find what has to be substituted for a and

b in each case and hence find their square. 

y - 2

(a + b)2 = a2 + 2ab + b2

https://dl.doubtnut.com/l/_meQiT6tsGKVV
https://dl.doubtnut.com/l/_fdzu8zyWvISu
https://dl.doubtnut.com/l/_hGfufZUoBt2h


Watch Video Solution

5. To find the square of the algebraic expressions given below using

, Let's find what has to be substituted for a and

b in each case and hence find their square. 

Watch Video Solution

(a + b)2 = a2 + 2ab + b2

mn + 1

6. To find the square of the algebraic expressions given below using

, Let's find what has to be substituted for a and

b in each case and hence find their square. 

Watch Video Solution

(a + b)2 = a2 + 2ab + b2

6x + 3

7. To find the square of the algebraic expressions given below using

, Let's find what has to be substituted for a and(a + b)2 = a2 + 2ab + b2

https://dl.doubtnut.com/l/_hGfufZUoBt2h
https://dl.doubtnut.com/l/_sDD7fMsbGKJh
https://dl.doubtnut.com/l/_awFDR7WGz5WU
https://dl.doubtnut.com/l/_KCUx4ZGf5j4q


b in each case and hence find their square. 

4x + 5y

Watch Video Solution

8. To find the square of the algebraic expressions given below using

, Let's find what has to be substituted for a and

b in each case and hence find their square. 

pqc + 2

Watch Video Solution

(a + b)2 = a2 + 2ab + b2

9. To find the square of the algebraic expressions given below using

, Let's find what has to be substituted for a and

b in each case and hence find their square. 

Watch Video Solution

(a + b)2 = a2 + 2ab + b2

+ 3
5

k

https://dl.doubtnut.com/l/_KCUx4ZGf5j4q
https://dl.doubtnut.com/l/_v4sCKM0BXWF0
https://dl.doubtnut.com/l/_WujUfGlcagXz
https://dl.doubtnut.com/l/_OJ1HaFnao7kV


10. To find the square of the algebraic expressions given below using

, Let's find what has to be substituted for a and

b in each case and hence find their square. 

Watch Video Solution

(a + b)2 = a2 + 2ab + b2

+
3

r

2

p

11. To find the square of the algebraic expressions given below using

, Let's find what has to be substituted for a and

b in each case and hence find their square. 

Watch Video Solution

(a + b)2 = a2 + 2ab + b2

+
p

q

m

n

12. To find the square of the algebraic expressions given below using

, Let's find what has to be substituted for a and

b in each case and hence find their square. 

3xy + 4z

(a + b)2 = a2 + 2ab + b2

https://dl.doubtnut.com/l/_OJ1HaFnao7kV
https://dl.doubtnut.com/l/_15hYNZ5WUYbG
https://dl.doubtnut.com/l/_Kp5Fh22NvF68


Watch Video Solution

13. To find the square of the algebraic expressions given below using

, Let's find what has to be substituted for a and

b in each case and hence find their square. 

102

Watch Video Solution

(a + b)2 = a2 + 2ab + b2

14. To find the square of the algebraic expressions given below using

, Let's find what has to be substituted for a and

b in each case and hence find their square. 

2x + 3y + z

Watch Video Solution

(a + b)2 = a2 + 2ab + b2

15. To find the square of the algebraic expressions given below using

, Let's find what has to be substituted for a and(a + b)2 = a2 + 2ab + b2

https://dl.doubtnut.com/l/_Kp5Fh22NvF68
https://dl.doubtnut.com/l/_7hBFjfml3Abi
https://dl.doubtnut.com/l/_aN9PdqAmsm5X
https://dl.doubtnut.com/l/_nh92NKbMj3K4


b in each case and hence find their square. 

p + q + r + s

Watch Video Solution

16. To find the square of the algebric expressions given below using

, what has to be susbtitued for a and b in each

cases and hence let's find the squares. 

x - 5

Watch Video Solution

(a − b)2 = a2 − 2ab + b2

17. To find the square of the algebric expressions given below using

, what has to be susbtitued for a and b in each

cases and hence let's find the squares. 

m - n

Watch Video Solution

(a − b)2 = a2 − 2ab + b2

https://dl.doubtnut.com/l/_nh92NKbMj3K4
https://dl.doubtnut.com/l/_jDcWZp7I1LKd
https://dl.doubtnut.com/l/_Ti59O1CzsE3J
https://dl.doubtnut.com/l/_csfhm2cYAoDl


18. To find the square of the algebric expressions given below using

, what has to be susbtitued for a and b in each

cases and hence let's find the squares. 

10 - x

Watch Video Solution

(a − b)2 = a2 − 2ab + b2

19. To find the square of the algebric expressions given below using

, what has to be susbtitued for a and b in each

cases and hence let's find the squares. 

x + y

Watch Video Solution

(a − b)2 = a2 − 2ab + b2

20. To find the square of the algebric expressions given below using

, what has to be susbtitued for a and b in each

cases and hence let's find the squares. 

3x - y

(a − b)2 = a2 − 2ab + b2

https://dl.doubtnut.com/l/_csfhm2cYAoDl
https://dl.doubtnut.com/l/_mMn53cEdg02q
https://dl.doubtnut.com/l/_3eDHM27o0Eiu


Watch Video Solution

21. To find the square of the algebric expressions given below using

, what has to be susbtitued for a and b in each

cases and hence let's find the squares. 

4m + 2

Watch Video Solution

(a − b)2 = a2 − 2ab + b2

22. To find the square of the algebric expressions given below using

, what has to be susbtitued for a and b in each

cases and hence let's find the squares. 

5y + x

Watch Video Solution

(a − b)2 = a2 − 2ab + b2

23. To find the square of the algebric expressions given below using

, what has to be susbtitued for a and b in each(a − b)2 = a2 − 2ab + b2

https://dl.doubtnut.com/l/_3eDHM27o0Eiu
https://dl.doubtnut.com/l/_eyxnda4Tl9Uc
https://dl.doubtnut.com/l/_Psoi4r138YSq
https://dl.doubtnut.com/l/_BgS0LjFZdHG7


cases and hence let's find the squares. 

ce-fg

Watch Video Solution

24. To find the square of the algebric expressions given below using

, what has to be susbtitued for a and b in each

cases and hence let's find the squares. 

Watch Video Solution

(a − b)2 = a2 − 2ab + b2

px −
1

2

25. To find the square of the algebric expressions given below using

, what has to be susbtitued for a and b in each

cases and hence let's find the squares. 

p + q - r

Watch Video Solution

(a − b)2 = a2 − 2ab + b2

https://dl.doubtnut.com/l/_BgS0LjFZdHG7
https://dl.doubtnut.com/l/_5SzlIRLU8lJo
https://dl.doubtnut.com/l/_36DZLHevXj4l
https://dl.doubtnut.com/l/_THVI9GOgFG4C


26. To find the square of the algebric expressions given below using

, what has to be susbtitued for a and b in each

cases and hence let's find the squares. 

p - q +r

Watch Video Solution

(a − b)2 = a2 − 2ab + b2

27. To find the square of the algebric expressions given below using

, what has to be susbtitued for a and b in each

cases and hence let's find the squares. 

Watch Video Solution

(a − b)2 = a2 − 2ab + b2

−
2x

3

3y

4

28. To find the square of the algebric expressions given below using

, what has to be susbtitued for a and b in each

cases and hence let's find the squares. 

(a − b)
2
= a2 − 2ab + b2

3m2 − 4n3

https://dl.doubtnut.com/l/_THVI9GOgFG4C
https://dl.doubtnut.com/l/_2jqGM8gm1qJg
https://dl.doubtnut.com/l/_my8qzXpor9vq


Watch Video Solution

29. To find the square of the algebric expressions given below using

, what has to be susbtitued for a and b in each

cases and hence let's find the squares. 

2x + y - 4

Watch Video Solution

(a − b)
2
= a2 − 2ab + b2

30. To find the square of the algebric expressions given below using

, what has to be susbtitued for a and b in each

cases and hence let's find the squares. 

999

Watch Video Solution

(a − b)
2
= a2 − 2ab + b2

31. To find the square of the algebric expressions given below using

, what has to be susbtitued for a and b in each(a − b)
2
= a2 − 2ab + b2

https://dl.doubtnut.com/l/_my8qzXpor9vq
https://dl.doubtnut.com/l/_7bbpC5QN1uBW
https://dl.doubtnut.com/l/_ULGKligSSghv
https://dl.doubtnut.com/l/_qLIw61D0hodf


cases and hence let's find the squares. 

p + q - r - s

Watch Video Solution

32. Write true or false: The product of  


is 

Watch Video Solution

(a + b) × (a + b)

a2 + b2

33. Write true or false: The product of  


is

Watch Video Solution

(a + b) × (a + b)

(a + b)2

34. Write true or false: product of  


is equas to 2(a+b)

Watch Video Solution

(a + b) × (a + b)

https://dl.doubtnut.com/l/_qLIw61D0hodf
https://dl.doubtnut.com/l/_KJUiXRgVHAsQ
https://dl.doubtnut.com/l/_3Vdx9EiVmqEr
https://dl.doubtnut.com/l/_XvzSiKydc8RE


35. Write true or false: the product of  


is 4ab

Watch Video Solution

(a + b) × (a + b)

36. Let's find, which of the following will be value of k satisfying the

identify 

Watch Video Solution

(x + 7)2 = x2 + 14x + k

37. Which on of the following algebric expression must be added 

so that the sum is a perfect square. 

1) 4ab
2)2ab
3)2(  )
4)ab

Watch Video Solution

a2 + b2

a2 + b2

https://dl.doubtnut.com/l/_XvzSiKydc8RE
https://dl.doubtnut.com/l/_7eEHFqfTT0E1
https://dl.doubtnut.com/l/_sZMeRrkeD7wO
https://dl.doubtnut.com/l/_qZgOWbm8GEQ2


38. Which on of the following algebraic expression must be added

 so that the sum is a perfect square. 


1) 


2) 


3) 


4) 

Watch Video Solution

a2 + b2

−4ab

−2ab

2(a2 + b2)

−ab

39. Which on of the following algebric expression must be added 

so that the sum is a perfect square. 

2ab or -2ab

Watch Video Solution

a2 + b2

40. Which on of the following algebraic expression must be added

 so that the sum is a perfect square. 


1) 


a2 + b2

0

https://dl.doubtnut.com/l/_LxD3N5v4qpYg
https://dl.doubtnut.com/l/_16FEycmfCOdP
https://dl.doubtnut.com/l/_mptJlJLJOILl


2) 


3) 


4) 

Watch Video Solution

2ab

4ab

−1

41. If . Let's find,the possible value of b.

Watch Video Solution

(a + b)2 = a2 + 6a + 9

42. If . Let's find, which of the following is the

posible value of b.

Watch Video Solution

(a + b)2 = a2 + 6a + 9

43. If . Let's find, which of the following is the

posible value of b.

Watch Video Solution

(a + b)2 = a2 + 6a + 9

https://dl.doubtnut.com/l/_mptJlJLJOILl
https://dl.doubtnut.com/l/_P22alZLysIjD
https://dl.doubtnut.com/l/_4b9kJAjHhUcw
https://dl.doubtnut.com/l/_CYnYzkbiUh8E


44. If . Let's find, which of the following is the

posible value of b.

Watch Video Solution

(a + b)2 = a2 + 6a + 9

45. Write true or false: 

 when added to  make it a perfect square.

Watch Video Solution

1

64
x2 + x

1

4

46. Write true or false: 

 when added to  make it a perfect square.

Watch Video Solution

−
1

64
x2 + x

1

4

https://dl.doubtnut.com/l/_CYnYzkbiUh8E
https://dl.doubtnut.com/l/_SNll5jIJg8tY
https://dl.doubtnut.com/l/_kIVBemwFT0M5
https://dl.doubtnut.com/l/_kqpIj6l0k7ko


47. Write true or false: 

 when added to  make it a perfect square.

Watch Video Solution

1

8
x2 + x

1

4

48. Let's find, for which value of k, will the expression  be a

perfect square.

Watch Video Solution

c2 + kc +
1

2

1

4

49. Let's find what number must be added or subtracted from 

to make it a perfect square.

Watch Video Solution

9p2 +
1

9p2

50. If , then let's find the value of x.

Watch Video Solution

(x − y)
2
= 4 − 4y + y2

https://dl.doubtnut.com/l/_KlpKmtMdeV4M
https://dl.doubtnut.com/l/_Jgwxy9YEbKtY
https://dl.doubtnut.com/l/_FBGLrQ8mPHJx
https://dl.doubtnut.com/l/_WKIfU4vxXqcf


51. If , Let's find the value of k

Watch Video Solution

(c − 3)
2
= c2 + kc + 9

52. Let's simplify using formula. 

Watch Video Solution

(2q − 3z)
2
− 2(2q − 3z)(q − 3z) + (q − 3z)

2

53. Let's simplify using formula. 

Watch Video Solution

(3p + 2q − 4r)
2
+ 2(3p + 2q − 4r)(4r − 2p − q) + (4r − 2p − q)

2

54. Let's express the following as perfect square. 

h id l i

16a2 − 40ac + 25c2

https://dl.doubtnut.com/l/_WKIfU4vxXqcf
https://dl.doubtnut.com/l/_OLWB9OSqZHj3
https://dl.doubtnut.com/l/_FhaIdOI01yc6
https://dl.doubtnut.com/l/_k57icrrkUWdj
https://dl.doubtnut.com/l/_GgWearkbkJXl


Watch Video Solution

55. Let's express the following as perfect square. 

Watch Video Solution

4p2 − 2p +
1

4

56. Let's express the following as perfect square. 

Watch Video Solution

1 + +
4

a

4

a2

57. Let's express the following as perfect square. 

Watch Video Solution

9a2 + 24ab + 16b2

https://dl.doubtnut.com/l/_GgWearkbkJXl
https://dl.doubtnut.com/l/_vG7dll3ONXGe
https://dl.doubtnut.com/l/_XdjmO84I4Wtb
https://dl.doubtnut.com/l/_zL0wRcMf4Esd


58. Let's express the following square and hence find the value. 

 


 

Watch Video Solution

64a2 + 16a + 1

when a = 1

59. Let's express the following in perfect square and hence find the value. 


  

Watch Video Solution

25a2 − 30ab + 9b2 when a = 1, b = 1

60. Let's express the following in perfect square and hence find the value. 

, when 

Watch Video Solution

64 − +
16

p

1

p2
p = − 1

https://dl.doubtnut.com/l/_BFSLsOVXgrvj
https://dl.doubtnut.com/l/_8nV0BX06Rdfw
https://dl.doubtnut.com/l/_UQxEpb53lKHI


61. Let's express the following in perfect square and hence find the value. 

 when 

Watch Video Solution

p2q2 + 10pqr + 25r2 p = 2, q = − 1, r = 3

62. Let's apply,

to find the following. 

Let's find st and  when 

Watch Video Solution

(a + b)2 + (a − b)2 = 2(a2 + b2) or (a + b)2 − (a − b)2 = 4ab or ab = (

(s2 + t2) s + t = 12&s − t = 8

63. ,  or


to find the following.


Let's find  when 

Watch Video Solution

(a + b)
2
+ (a − b)

2
= 2(a2 + b2) or (a + b)

2
− (a − b)

2
= 4ab

ab = ( )
2

− ( )
2

a + b

2

a − b

2

8xy(x2 + y2) (x + y) = 5 and (x − y) = 1

https://dl.doubtnut.com/l/_EQ7PGcfk6drY
https://dl.doubtnut.com/l/_VSBVZLGfuQTX
https://dl.doubtnut.com/l/_eRvxBE1eio3t
https://dl.doubtnut.com/l/_jxFkMK79D9W2


64. Let's apply,

 or

 to find the following.


Let's find  when (x + y) = 9 and ( x - y) = 5`

Watch Video Solution

(a + b)2 + (a − b)2 = 2(a2 + b2) or (a + b)2 − (a − b)2 = 4ab

ab = ( )
2

− ( )
2

a + b

2

a − b

2

x2 + y2

2xy

65. Let's apply,

to find the following. 

Let's express 36 as the difference of two squares.

Watch Video Solution

(a + b)
2
+ (a − b)

2
= 2(a2 + b2) or (a + b)

2
− (a − b)

2
= 4ab or ab = (

66. Let's apply,

 or(a + b)
2
+ (a − b)

2
= 2(a2 + b2) or (a + b)

2
− (a − b)

2
= 4ab

https://dl.doubtnut.com/l/_jxFkMK79D9W2
https://dl.doubtnut.com/l/_5FGDbLzDP0QQ
https://dl.doubtnut.com/l/_WqW2YORXAOiE


 to find the following. 


Let's express 44 as the difference of two squres.

Watch Video Solution

ab = ( )
2

− ( )
2

a + b

2

a − b

2

67. Let's apply, or

 to find

the following. 

Let's express  as the sum of two squares.

Watch Video Solution

(a + b)
2
+ (a − b)

2
= 2(a2 + b2)

(a + b)2 − (a − b)2 = 4ab or ab = ( )
2

− ( )
2

a + b

2

a − b

2

8x2 + 50y2

68. Let's apply,

or




to find the following Let's express x as the difference of two squares.

Watch Video Solution

(a + b)2 + (a − b)2 = 2(a2 + b2) or (a + b)2 − (a − b)2 = 4ab

ab = ( )
2

− ( )
2

a + b

2

a − b

2

https://dl.doubtnut.com/l/_WqW2YORXAOiE
https://dl.doubtnut.com/l/_SystKpZr1fLg
https://dl.doubtnut.com/l/_RnjznA5bKuJK


69. Using the identity , let's find

the product of the following algebraic expression. 

(x+7)(x+1)

Watch Video Solution

(x + a)(x + b) = x2 + (a + b)x + ab

70. Using the identity , let's find

the product of the following algebraic expression. 

(X-8) (x-2)

Watch Video Solution

(x + a)(x + b) = x2 + (a + b)x + ab

71. Using the identity , let's find

the product of the following algebraic expression. 

Watch Video Solution

(x + a)(x + b) = x2 + (a + b)x + ab

(x + 9)(x − 6)

https://dl.doubtnut.com/l/_x08wjlzII4Xz
https://dl.doubtnut.com/l/_acuaGLuwlSMK
https://dl.doubtnut.com/l/_h54OPJJcv5Ug
https://dl.doubtnut.com/l/_5MSzkdhpWbvQ


72. Using the identity , let's find

the product of the following algebraic expression. 

(2x +1)(2x-1)

Watch Video Solution

(x + a)(x + b) = x2 + (a + b)x + ab

73. Using the identity , let's find

the product of the following algebraic expression. 

(xy-4)(xy + 2)

Watch Video Solution

(x + a)(x + b) = x2 + (a + b)x + ab

74. Using the identity , let's find

the product of the following algebraic expression. 

Watch Video Solution

(x + a)(x + b) = x2 + (a + b)x + ab

(a2 + 5)(a2 − 4)

https://dl.doubtnut.com/l/_5MSzkdhpWbvQ
https://dl.doubtnut.com/l/_rMHH6a5mYC4v
https://dl.doubtnut.com/l/_SGYRRlVw6Kzf


75. Using formula let's show that. 

Watch Video Solution

(2x + 3y)2 − (2x − 3y)2 = 24xy

76. Using formula let's show that. 

Watch Video Solution

(a + 2b)2 + (a − 2b)2 = 2(a2 + 4b2)

77. Using formula let's show that. 

Watch Video Solution

(l + m)2 = (l − m)2 + 4lm

78. Using formula let's show that. 

(2p − q)2 = (2p + q)2 − 8pq

https://dl.doubtnut.com/l/_i9ezcC9WCVy7
https://dl.doubtnut.com/l/_dyjS9qZSv3T9
https://dl.doubtnut.com/l/_M6x7YO5208Pw
https://dl.doubtnut.com/l/_nVGt9qbVzPqW


Watch Video Solution

79. Using formula let's show that. 

Watch Video Solution

(3m + 4n)2 = (3m − 4n)2 + 48mn

80. Using formula let's show that. 

Watch Video Solution

(6x + 7y)2 − 84xy = 36x2 + 49y2

81. Using formula let's show that. 

Watch Video Solution

(3a − 4b)2 + 24ab = 9a2 + 16b2

https://dl.doubtnut.com/l/_nVGt9qbVzPqW
https://dl.doubtnut.com/l/_lkVIamiRE2y3
https://dl.doubtnut.com/l/_HPBfjwSQ9Oxg
https://dl.doubtnut.com/l/_FZ7CDoQrTJNY


82. Using formula let's show that. 

Watch Video Solution

(2a + )
2

= (2a − )
2

+ 8
1

a

1

a

83. Using formula, let's solve each of the following problems- 

Let's find the value of 



 

Watch Video Solution

x2 + y2

when xy = 16. and x − y = 4

84. Using formula, let's solve each of the following problems- 

Let's find the value of 

Watch Video Solution

a2 + b2when, ab = 24, a − b = 2

https://dl.doubtnut.com/l/_c1gUy6icvzJC
https://dl.doubtnut.com/l/_9ZvpH2j7cf9w
https://dl.doubtnut.com/l/_eRC4hNsuiqyU


85. Using formula, let's solve each of the following problems- 

Let's find the value of  When 

Watch Video Solution

a2 +
1

a2
a − = 4

1

a

86. Using formula, let's solve each of the following problems- 

Let's find the value of When 

Watch Video Solution

l2 + m2, l + m = 5, lm = 6

87. Using formula, let's solve each of the following problems- 

Let's find the value of 

Watch Video Solution

a2 + when, a + = 4
1

a2

1

a

88. Using formula, let's solve each of the following problems- 

If , Let's show 5x + = 6
1

x
25x2 + = 26

1

x2

https://dl.doubtnut.com/l/_RtivjMq7aP9C
https://dl.doubtnut.com/l/_GfU73NiscjdZ
https://dl.doubtnut.com/l/_8Xs7Y4SDcxdu
https://dl.doubtnut.com/l/_CD7A21sqkJZo


Watch Video Solution

89. Using formula, let's solve each of the following problems- 

If , Let's find the value of 

Watch Video Solution

2x + = 5
1

x
4x2 +

1

x2

90. Using formula, let's solve each of the following problems- 

If , Let's find the value of 

Watch Video Solution

+ = 3
x

y

y

x
+

x2

y2

y2

x2

91. Using formula, let's solve each of the following problems- 

If , Let's show that 

Watch Video Solution

m + = − p
1

m
m2 + = p2 − 2

1

m2

https://dl.doubtnut.com/l/_CD7A21sqkJZo
https://dl.doubtnut.com/l/_1Xaok3yIYRKH
https://dl.doubtnut.com/l/_TxbPpNw0eFfR
https://dl.doubtnut.com/l/_AmVL3TLXb61L


92. Using formula, let's solve each of the following problems- 

If , let's show that 

Watch Video Solution

a2 + b2 = 5ab + = 23
a2

b2

b2

a2

93. Using formula, let's solve each of the following problems- 

If , let's show 

Watch Video Solution

6x2 − 1 = 4x (36x2 + ) = 28
1

x2

94. Using formula, let's solve each of the following problems- 

If , then lets show 

Watch Video Solution

m − = p − 2
1

m
m2 + = p2 − 4p + 6

1

m2

95. Using formula, let's solve each of the following problems- 

If , then, find the value of (m − 2) − = 6
1

m − 2
(m − 2)

2
+

1

(m − 2)2

https://dl.doubtnut.com/l/_yOhGVYSyyspi
https://dl.doubtnut.com/l/_DJUtXk5AfHye
https://dl.doubtnut.com/l/_LiLLDqEYRe6X
https://dl.doubtnut.com/l/_uQ2FwvpAuJIp


Watch Video Solution

96. Using the formula . Let's find the values 


Watch Video Solution

a2 − b2 = (a + b)(a − b)

(37)2 − (13)2

97. Using the formula . Let's find the values 


Watch Video Solution

a2 − b2 = (a + b)(a − b)

(2.06)2 − (0.94)2

98. Using the formula . Let's find the values 


Watch Video Solution

a2 − b2 = (a + b)(a − b)

(82)2 − (78)2

https://dl.doubtnut.com/l/_uQ2FwvpAuJIp
https://dl.doubtnut.com/l/_6l35fqosrJdO
https://dl.doubtnut.com/l/_zZfHMZkPRT0u
https://dl.doubtnut.com/l/_P4YOm2Bieb7a


99. Using the formula . Let's find the values 


Watch Video Solution

a2 − b2 = (a + b)(a − b)

(1.15)2 − (0.85)2

100. Using the formula . Let's find the values 


Watch Video Solution

a2 − b2 = (a + b)(a − b)

(65)2 − (35)2

101. If  lets find the value of k

Watch Video Solution

k − p2 = (9 + p)(9 − p)

102. If  let's find the positive value of a

Watch Video Solution

(25 − 4x2) = (5 + ax)(5 − ax)

https://dl.doubtnut.com/l/_MRVotnlmccFR
https://dl.doubtnut.com/l/_VABCmN2o3P3A
https://dl.doubtnut.com/l/_U0AljaIVJsle
https://dl.doubtnut.com/l/_lBxYJsKfhHss
https://dl.doubtnut.com/l/_kh4UyuERzrcz


103. Fill in the box, so that the identity  is

satisfied.

Watch Video Solution

(4 − x) × ? = (16 − x2)

104. Let's express the following in the product from using formula. 

Watch Video Solution

25l2 − 16m2

105. Let's express the following in the product from using formula. 

Watch Video Solution

49x4 − 36x4

106. Let's express the following in the product from using formula. 

W h Vid S l i

(2a + b)2 − (a + b)2

https://dl.doubtnut.com/l/_kh4UyuERzrcz
https://dl.doubtnut.com/l/_lr23EEwD8HYb
https://dl.doubtnut.com/l/_NoZXBqfLALxm
https://dl.doubtnut.com/l/_u99jRuwljpEV


Watch Video Solution

107. Let's express the following in the product from using formula. 

Watch Video Solution

(x + y)2 − (a + b)2

108. Let's express the following in the product from using formula. 

Watch Video Solution

(x + y − z)2 − (x − y + z)2

109. Let's express the following in the product from using formula. 

Watch Video Solution

(m + p + q)2 − (m − p − q)2

https://dl.doubtnut.com/l/_u99jRuwljpEV
https://dl.doubtnut.com/l/_soe6z2kWUaAW
https://dl.doubtnut.com/l/_bpQOdmUlvgf8
https://dl.doubtnut.com/l/_gfT8Yxa7hgFU


110. Using formula, lets find the continued, product of the followingl 

Watch Video Solution

(c + d)(c − d)(c2 + d2)

111. Let's express the following in the product from using formula. 

Watch Video Solution

(1 − 3x2)(1 + 3x2)(1 + 9x4)

112. Let's express the following in the product from using formula. 

Watch Video Solution

(a2 + b2)(a2 − b2)(a4 + b4)(a8 + b8)

113. Let's express the following in the product form: 

16c4 − 81d4

https://dl.doubtnut.com/l/_3iCMu49dvBz1
https://dl.doubtnut.com/l/_LgvCnTC7v8lH
https://dl.doubtnut.com/l/_4ETWrWSoMk8n
https://dl.doubtnut.com/l/_xwU15IEllS78


Watch Video Solution

114. Let's express the following in the product form: 

Watch Video Solution

p4q4 − r4s4

115. Let's express the following in the product form: 

Watch Video Solution

81 − x4

116. Let's express the following in the product form: 

Watch Video Solution

625 − a4b4

https://dl.doubtnut.com/l/_xwU15IEllS78
https://dl.doubtnut.com/l/_1QfQsSACzHUe
https://dl.doubtnut.com/l/_4Iyv7V0yS0j6
https://dl.doubtnut.com/l/_OuoMM9aeYjAr


117. Let's prove 

Watch Video Solution

(p + q)4 − (p − q)4 = 8pq(p2 + q2)

118. Using formula let's multiply :

Watch Video Solution

(a + b + c)(b + c − a)(c + a − b)(a + b − c)

119. If  and  then show that 

Watch Video Solution

x = +
a

b

b

a
y = −

a

b

b

a

x4 + y4 − 2x2y2 = 16

120. Using formula let's multiply

Watch Video Solution

(a2 + a + 1)(a2 − a + 1)(a4 − a2 + 1)

https://dl.doubtnut.com/l/_Cm0Vs7mFTHld
https://dl.doubtnut.com/l/_4RIIrzOpf1QB
https://dl.doubtnut.com/l/_D6BxhzJq8V5T
https://dl.doubtnut.com/l/_r5OIbfx6Cx68


121. If  then find the value of 

Watch Video Solution

x = a + and y = a −
1

a

1

a

x4 + y4 − 2x2y2

122. Let's express  as the difference of

two squares, using formula.

Watch Video Solution

(4x2 + 4x + 1 − a2 + 8a − 16)

123. Let's express  as the difference of two squares.

Watch Video Solution

a2 + − 3
1

a2

https://dl.doubtnut.com/l/_r5OIbfx6Cx68
https://dl.doubtnut.com/l/_ozw5qzw3sApV
https://dl.doubtnut.com/l/_BjIJs6kPaWil
https://dl.doubtnut.com/l/_HDB9DqL7kTEU

